



**Vendor Ranking** 

Page 1 of 1

 Letting:
 05240305
 March 05, 2024 2:00 PM
 Call Order: 015
 Contract: Z5088

 District:
 District 5
 Counties: DIST/ST-WIDE
 Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 4543381F201 (\*)

Contract Desc: PRE-EVENT CONTRACT - TEMPORARY SIGNAL REPAIR

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	AMERICAN LIGHTING AND SIGNALIZATION, LLC.	Responsive	Winning bid	\$5,093,500.00	100.00%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





#### **Tabulation of Bids**

Page 1 of 11

 Letting:
 05240305
 March 05, 2024
 Call Order:
 015
 Contract:
 Z5088

 District:
 District 5
 Counties:
 DIST/ST-WIDE
 Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS Project(s): 4543381F201 (\*)

Contract Descr: PRE-EVENT CONTRACT - TEMPORARY SIGNAL REPAIR

FDOT District 5

Proposal ID No.: Z5088

Financial Project No.: 454338-1-F2-01

Fiscal Year: 2024 Counties: Districtwide

Contract Calendar Days: 365; option for 2 renewals.

Contract Time begins on June 1, 2024.

This is a Pre-Event Temporary Traffic Signal Repair Contract.

#### PRE-QUALIFICATION IS REQUIRED.

#### Intent:

Provide traffic signal repair operations pursuant to the Governor's and/ or President's declaration of a state emergency. Provide all labor, material and equipment required to complete the work described in the Scope of Services.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Departments estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

There is no requirement for a Bid Bond. The Contractor shall provide a letter to the Department at the time of bid, from a Surety Company authorized to do business in the State of Florida verifying the Contractor is bondable in the State of Florida. For the purposes of this Contract, the dollar amount is established at \$750,000.

Awarded Contractor must execute Contract documents within five (5) business days.

#### Note:

The Department, at its sole discretion, may award one or more Contracts. If more than one award is made, award will be based off the lowest responsive bid then the next lowest responsive bid and so forth and activated in the same order based on the Contractors availability and ability to satisfy the needs of the Department at the time contacted.

Line No / Item ID Alternate Item Description	Quantity Units	, , ,	LIGHTING AND ATION, LLC.				
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount





## **Tabulation of Bids**

Page 2 of 11

Letting: 0524	40305 Ma	rch 05, 2024	4 Cal	l Order: 015		Contract:	Z5088	
Line No / Item ID Item Description	Alternate	Quantity Units	(1) AMERICAN L SIGNALIZA					
() indicates item is bid as	s Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0	001 (E	MERGENCY	MAINTENANCE (I	ΜН				
0005 0102108 WOOD POLE, MAX 50', I INSTALL TEMPORARY F EVENT CONTRACTS ON	POLE, FOR PRI	20.000 EA E-	5,000.00000	100,000.00				
0010 0102109 GUY WIRE FOR WOOD POLE, FURNISH AND IN PRE-EVENT CONTRACT	ISTALL, FOR	25.000 E EA	1,500.00000	37,500.00				
0015 0129 1 1 NATURAL DISASTER /P CONTRACTS, CREW PR POSITIONING: DO NOT	RE-	12.000 ED	2,500.00000	30,000.00				
0020 0630 2 11 CONDUIT, FURNISH & II TRENCH	NSTALL, OPEN	1,000.000 I LF	20.00000	20,000.00				
0025 0630 2 14 CONDUIT, FURNISH & II ABOVEGROUND	NSTALL,	1,250.000 LF	50.00000	62,500.00				
0030 0632 7 1 SIGNAL CABLE- NEW O RECONSTRUCTED INTE FURNISH & INSTALL		25.000 PI	15,000.00000	375,000.00				
0035 0634 4152 SPAN WIRE ASSEMBLY POINT, DIAGONAL	, F&I, TWO	4.000 PI	8,000.00000	32,000.00				
0040 0634 4153 SPAN WIRE ASSEMBLY POINT, BOX OR DROP E		4.000 PI	16,000.00000	64,000.00				





## **Tabulation of Bids**

Page 3 of 11

Letting	<b>j</b> : 052	240305	March 05, 2024	4 Cal	l Order: 015		Contract:	Z5088	
	No / Item ID Description	Alternate	Quantity Units	(1) AMERICAN L SIGNALIZA					
() indi	licates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(EMERGENCY	MAINTENANCE (I	МН				
	0634 4154 /IRE ASSEMBL OTHER TYPE	Y, F&I, TWO	4.000 PI	14,000.00000	56,000.00				
SPAN W SINGLE	0634 4341 /IRE ASSEMBL POINT ATTACI NDICULAR		5.000 PI	4,000.00000	20,000.00				
SPAN W	0634 4342 /IRE ASSEMBL POINT ATTACI		4.000 PI L	6,000.00000	24,000.00				
SPAN W	0634 4343 /IRE ASSEMBL POINT ATTAC		4.000 PI NS	8,000.00000	32,000.00				
SPAN W	0634 4351 /IRE ASSEMBL ATTACH, PERP		4.000 TWO PI	5,000.00000	20,000.00				
SPAN W	0634 4352 VIRE ASSEMBL ATTACH, DIAGO		5.000 FWO PI	7,000.00000	35,000.00				
SPAN W	0634 4353 VIRE ASSEMBL ATTACH, BOX S		4.000 TWO PI	9,000.00000	36,000.00				
0080 SPAN W	0634 4400 /IRE ASSEMBL	Y, ADJUST	10.000 PI	3,000.00000	30,000.00				



Page 4 of 11

# Florida Department of Transportation



## **Tabulation of Bids**

<b>Letting:</b> 05240309	5 March 05, 202	4 Cal	l Order: 015		Contract:	Z5088	
Line No / Item ID All Item Description	ternate Quantity Units	(1) AMERICAN L SIGNALIZAT					
() indicates item is bid as Lum	p Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(EMERGENCY	MAINTENANCE (	МН				
0085 0634 4600 SPAN WIRE ASSEMBLY, REM POLES REMAIN	15.000 MOVE- PI	3,000.00000	45,000.00				
0090 0634 5 1 FIBERGLASS INSULATOR, FI	1,000.000 URNISH & LF	50.00000	50,000.00				
0095 0635 2 11 PULL & SPLICE BOX, F&I, 13 COVER SIZE	50.000 " x 24" EA	2,000.00000	100,000.00				
0100 0635 3 11 JUNCTION BOX, FURNISH & AERIAL	20.000 INSTALL, EA	1,500.00000	30,000.00				
0105 0639 1112  ELECTRICAL POWER SERVI OVERHEAD METER PURCHA CONTRACTOR FROM POWE COMPANY	ASED BY	4,000.00000	40,000.00				
0110 0639 1122 ELECTRICAL POWER SERVI UNDERGROUND, METER PU BY CONTRACTOR		5,000.00000	50,000.00				
0115 0639 2 1 ELECTRICAL SERVICE WIRE & INSTALL	100.000 F, FURNISH LF	10.00000	1,000.00				
0120 0639 4 3 EMERGENCY GENERATOR - INSTALL- RETROFIT; FDOT F		3,000.00000	75,000.00				





## **Tabulation of Bids**

Page 5 of 11

Letting:	05240305	March 05, 202	4 Cal	l Order: 015		Contract:	Z5088	
Line No / It		nate Quantity Units	(1) AMERICAN I SIGNALIZA					
() indicates	tem is bid as Lump St	um	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(EMERGENCY	MAINTENANCE (	МН				
	4 5 GENERATOR - IONITOR & REFUE	168.000 HR :L	500.00000	84,000.00				
0130 0639 EMERGENCY FOR CABINET	GENERATOR - HA	35.000 ARNESS EA	1,000.00000	35,000.00				
0135 0641 PRESTRESSE TYPE P-II SEF	D CONCRETE PO	35.000 LE, F&I, EA	4,000.00000	140,000.00				
0140 0646 ALUMINUM SI	1 11 GNALS POLE, PEI	50.000 DESTAL EA	3,500.00000	175,000.00				
	RAFFIC SIGNAL, STALL ALUMINUM	25.000 AS 1, 1	1,500.00000	37,500.00				
	RAFFIC SIGNAL, STALL ALUMINUM	20.000 AS	3,500.00000	70,000.00				
	RAFFIC SIGNAL, STALL ALUMINUM	15.000 AS	2,000.00000	30,000.00				
FURNISH & IN	1 18 RAFFIC SIGNAL, STALL ALUMINUN AIGHT, 1 WAY	15.000 AS 1, 5	3,500.00000	52,500.00				





## **Tabulation of Bids**

Page 6 of 11

Letting:	: 05	5240305 N	1arch 05, 2024	4 Cal	II Order: 015		Contract:	Z5088	
	No / Item ID Description	Alternate	Quantity Units	(1) AMERICAN L SIGNALIZA					
() indic	cates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	EMERGENCY	MAINTENANCE (	МН				
VEHICUL/ FURNISH		SIGNAL, POLYCARBON, TION, 1 WAY	5.000 AS ATE	2,000.00000	10,000.00				
VEHICULA FURNISH WITH ALL		SIGNAL, POLYCARBONA SECTION, 3	5.000 AS ATE	4,000.00000	20,000.00				
VEHICUL/ FURNISH		SIGNAL, POLYCARBON, N CLUSTER, 1	5.000 AS ATE	3,500.00000	17,500.00				
	0650 150 AR TRAFFIC	SIGNAL, INSTA	12.000 ALL AS	1,500.00000	18,000.00				
VEHICUL	0650 160 AR TRAFFIC - POLES TO		15.000 AS	1,000.00000	15,000.00				
VEHICUL		SIGNAL, ES REMOVAL A	25.000 AS ND	2,000.00000	50,000.00				
VEHICUL	0650 180 AR TRAFFIC MODIFY EXIS	SIGNAL, STING SIGNAL	50.000 AS	2,500.00000	125,000.00				



Page 7 of 11

# Florida Department of Transportation



## **Tabulation of Bids**

Letting:	05240305	March 05, 2024	4 Cal	l Order: 015		Contract:	Z5088	
Line No / It		e Quantity Units	(1) AMERICAN L SIGNALIZA					
() indicates i	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(EMERGENCY	MAINTENANCE (I	МН				
VEHICULAR S REPAIR/REPL	2102 SIGNAL AUXILIARIES ACE/RETROFIT- FUR ACKPLATE- BLACK V RDER	RNISH	1,000.00000	25,000.00				
	1 11 SIGNAL, FURNISH & COUNTDOWN, 1 WA		1,500.00000	52,500.00				
PEDESTRIAN	1 12 SIGNAL, FURNISH & COUNTDOWN, 2 WA		3,000.00000	60,000.00				
	1 60 SIGNAL, REMOVE P E/PEDESTAL TO REM		400.00000	14,000.00				
-	ECTION SYSTEM- ADJUST & MODIFY,	25.000 EA	500.00000	12,500.00				
VEHICLE DET MICROWAVE,	3 52 ECTION SYSTEM - ADJUST & MODIFY, IND EQUIPMENT	20.000 EA	1,000.00000	20,000.00				
	4 51 ECTION SYSTEM- VI IFY CABINET EQUIP		3,000.00000	60,000.00				
	4 52 ECTION SYSTEM- VI IFY ABOVE GROUNE		3,000.00000	60,000.00				





## **Tabulation of Bids**

Page 8 of 11

Letting:	05240	0305 Ma	rch 05, 202	4 Cal	l Order: 015		Contract:	Z5088	
Line No /		Alternate	Quantity Units	(1) AMERICAN L SIGNALIZA					
() indicate	es item is bid as	Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	ECTION: 00	01 (E	MERGENCY	MAINTENANCE (I	МН				
	65 1 11 IN DETECTOF FANDARD	R, FURNISH &	40.000 EA	500.00000	20,000.00				
INTERSECT	70 4 1 TION CONTRO ER ASSEMBL		35.000 AS	5,000.00000	175,000.00				
TRAFFIC CO	70 5112 ONTROLLER / 2 PREEMPTIO		20.000 AS	49,000.00000	980,000.00				
TRAFFIC CO	70 5600 ONTROLLER / ONTROLLER '		20.000 AS	1,000.00000	20,000.00				
TRAFFIC CO	70 5700 ONTROLLER / MINOR REPA		20.000 AS	2,000.00000	40,000.00				
TRAFFIC CO	71 211 ONTROLLER V &I IN EXISTIN		20.000 EA	11,000.00000	220,000.00				
TRAFFIC CO	71 2 14 ONTROLLER \ URNISH & INS CABINET, 2070	STALL IN	20.000 EA	11,000.00000	220,000.00				
TRAFFIC SIG CABINET, R	76 1161 GNAL CONTR EPLACE CON N EXISTING C	IFLICT	20.000 EA	4,000.00000	80,000.00				





## **Tabulation of Bids**

Page 9 of 11

Letting:	052403	805 Mai	rch 05, 2024	4 Cal	l Order: 015		Contract:	Z5088	
	No / Item ID Description	Alternate	Quantity Units	(1) AMERICAN L SIGNALIZAT					
() indic	cates item is bid as Lu	ımp Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 000	l (EN	MERGENCY	MAINTENANCE (I	МН				
CONTRO REPLACE	0678 1104 DLLER ACCESSOF E EXISTING- FURI , LOAD SWITCH		25.000 EA	1,000.00000	25,000.00				
CONTRO REPLACE	0678 1109 DLLER ACCESSOF E EXISTING- FURI TYPE 3 TIME SWI	NISH AND	25.000 EA	3,500.00000	87,500.00				
CONTRO REPLACE	0678 1110 DLLER ACCESSOR E EXISTING- FURI TYPE 4 TIME SWI	NISH AND	25.000 EA	4,000.00000	100,000.00				
SIGN PAI	0700 3201 NEL, FURNISH & I AD MOUNT, UP T		50.000 EA	2,000.00000	100,000.00				
SIGN PAI	0700 3204 NEL, FURNISH & I AD MOUNT, 31-50	_	50.000 EA	8,000.00000	400,000.00				
	0700 3501 NEL, RELOCATE,	UP TO 12 SF	35.000 EA	1,500.00000	52,500.00				
	0700 3601 NEL, REMOVE, UF	? TO 12 SF	50.000 EA	500.00000	25,000.00				
	0001 EMERG	ENCV Socti	on Totale:		\$5,003,500,00				

0001 EMERGENCY Section Totals: MAINTENANCE (MH)

\$5,093,500.00



03/14/2024

## **Tabulation of Bids**

Page 10 of 11

Letting:	05240305	March 05, 2024	4 Ca	all Order: 015		Contract:	Z5088	
Line No / Item ID Alternate Quantity Item Description Units		Quantity	· •	LIGHTING AND ATION, LLC.				
() indicates item	( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	Contract C	Grand Totals:		\$5,093,500.00				



03/14/2024

#### **Tabulation of Bids**

Page 11 of 11

**Letting:** 05240305 March 05, 2024 **Call Order:** 015 **Contract:** Z5088

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.